o
I

L

m7T F E

THTEEIENAMBE - EEEREBHAENERERET (£ D2)

AT EE R

AR/ EESL
15 B
= =]
ENOR
BEES

AR LRASE (IH) / (3ITRK) /dLAMEH
BEEEE/TEERELS
BERIEE/ EEERELS
BRI E

18-11-25-002
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% L] R& - MAKSTE BfL % B B ' # m =
BRI 20, 767, 656
FEAMBE - EEBREFMERNERERES ( 20, 767, 656
ZM02)
JEAMBE - EEBREFMENERERES 20, 767, 656
(202)
EEAGE 20, 148, 000
IT% - REERERMERES 20, 034, 000
1 I% - REBGREMERER 12. 00 1, 669, 500 20, 034, 000
A
i - |WE 114,000
2 & - W& 1.00 114,000 114,000
=
EEREE 619, 656
EHARE 195, 552
S EBARE 1.00 195, 552 195, 552
=
BEEERARE 391,104
4 BEHERARE 1.00 391,104 391,104
=
EBHAERE 33,000
5 XBERRRE 1.00 33,000 33,000
=




s iE % BMTEELAMNBL EERBEHHTENEEHEREBE D)
£ g - AKTiE Bifr 2 B i & #B w E

E R 20,148,000 + 619, 656 20, 767, 656
EEAGE 20, 148, 000
EEEE 619, 656
T At R i 20,148,000 x 42.86% ( 30% + (1 — 30% ) ) 8, 635, 432
KHRE 20,767,656 + 8,635, 432 29,403, 088
—REEES 29,403,088 x 53.85% ( 35% = (1 — 35% ) ) — 6,650 15,826, 912
KB 29,403,088 + 15,826,912 45,230, 000
HBETEMALE 45,230,000 x 10.00% 4,523,000
EHERH 45,230,000 + 4,523,000 49,753, 000
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2% I% - AEBRERIERER 1H&Y
£ 7 R - BIRTE BARL #H = B Of | # B &
FEETE B (D)
A 0.70 57,000. 00 39, 900
EEEME HEm (C)
= 1.00 1, 629, 600. 00 1, 629, 600
= it 1E%HED - 1.008 1, 669, 500. 00 1, 669, 500
&5 :2
B 15 - | =1
£ 7 R - BIRTiE BAGL #H = B Of | # B =
HEm (A)
A 2.00 57, 000. 00 114, 000
= it 1YE%HeH - 1.00K 114, 000. 00 114, 000
5:3
2% EHARE =1
£ 7 R - BIRTE BAGL #H = B Of | # B =
EHARE
= 1.00 195, 552. 00 195, 552
= it 1YE%HeH - 1.00K 195, 552. 00 195, 552
E2=
2% EERERARE =1
£ 7 R - BIRTiE BAGL #H = B Of o # B =
BEHRERARE
= 1.00 391, 104. 00 391, 104
= it S .00 391, 104. 00 391, 104
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= 1.00 33, 000. 00 33, 000
= it 1E%HeH - 1.00K 33, 000. 00 33, 000




